112& < & > AMEEHEHL 2RI

==> RS

#1: 5 BEIGEIZ1(66.9) #2: 6 S5 (64.53) #3: 9 oo E B R (57.33)

1 NS: Pdst $8{-58GH0) 8 6 NS: BREEZE HIRE(BAC) 9 | 9.56 10.44| Total VP: 53.19 Rank:
EW: MiEIEY FiBsfE(EAC) -9 EW: Zhi&i5 518 (BAO) -8| IMP:| 4 5 6
- I
#9 . 6SW-2 200 Mean: 6SXW-2 500 9.0 2 [[# 10 » KT95 2HN2 110 Mean: 4SXS4 790 120 1
v K42 6SW-1100 80  6SW-2 200 30 5 v KT862 3HN3 140 140  3HN4 170 1.0 1
¢ Q2 Dif: 100 NS:3 6SW-1 100 1.0 1 ¢ Q3 Dif: -30 NS:-1  3HN3 140 00 2
» J9865432 IMP: 3 EW:-1 5HE5 650 -12.0 1 & AJ IMP: -1 EW:0 2HN3 140 00 1
» KQJT742 a3 4SwW4 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 4110 60 2
¢ KT93 — + A65 ¢ 94 + AKJ62
& AK7 & K982 & T7653
o ¢ VAN 4 A9865 o ¢VABN 4, QJ63
N ~~~~~ v 53 N ~~~~~ v AJ7
S ~~~~~ ¢ J874 S ~~~~~ ¢ T875
E ~~~~~ QT E ~~~~~ » Q4
W~~~-~-~ W ~~~~~
# 11 aT 2SS2 110 Mean: 2SE-3 150 3.0 2 ||# 12 a6 6HN6 1430 Mean: 6HN6 1430 9.0 4
v K9 2SE-3150 30  4HW-2 100 20 1 v QT964 6HN6 1430 1020 6SXW-5 1100 2.0 1
+ AT642 Dif: -40 NS:2 2SS2 110 20 3 + AKQ Dif: 0 NS:9 5HN7 710 7.0 1
& KQ542 IMP: -1 EW:-3 2SS-1 50 20 2 & K974 IMP: 0 EW:-9 5HS6 680 -8.0 1
» AKQ62 38S-2 100 -40 1 » KQT72 5HN6 680 -8.0 2
v 762 3HW3 140 50 1 | v J32 4HN6 680 -8.0 1
¢ K73 ¢+ 86
a J7 » 652
& J87543 & J5
v A3 v AK87
+ QJ9 ¢ JT742
& T6 & AQ
#13 4 QT6 6NN-2 -200 Mean: 3NN6 690 120 1 ||# 14 4 QT8432 4HE4 -420 Mean: 6HE-1 50 100 1
v AQ92 6NN-1-100 70  3NN5 660 110 2 v A9 4HWS5 -450 -410  4HE4 420 0.0 1
* A7 Dif: -100 NS:-7 6NN-1 100 -50 4 ¢ J7 Dif: 30 NS:0 5HW5 450 1.0 1
* AQ73 IMP: -3 EW:5 6NN-2 200 70 1 * QJ2 IMP: 1 EW:1 4HW5 450 1.0 3
# 9843 & KJ52 6DS-3 300 90 1 A s K 4HES5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 | |v KQ543 v J62 4SXN-3  -500 3.0 3
+ 6532 —|— 98 + Q543 + AK62
6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N ~~~~~ v 865 N ~~~~~ v T87
S ~~~~~ + KQJT4 S ~~~~~ ¢ T98
E ~~~~~ & KT8 E ~~~~~ & T4
W~~~-~-~ W ~~~~~
# 15 » 97 4SW6 -480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 3NE5 -660 Mean: 5SW5 650 0.0 1
v KJT5 4SW6 -480 -530 4SW6 480 20 7 v 853 4SW5 -650 -650 4SW5 650 0.0 7
+ A976 Dif: 0 NS:2 6SW6 980 -10.0 1 ¢ J8 Dif: -10 NS:0 3NE5 660 0.0 1
& 962 IMP: 0 EW:-2 & AKJ973 IMP: 0 EW:0 4SW6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 v 62 — v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
& AKQ8 » J3 » Q864
¢ VABN ,J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E ~~~~~ &T74 E ~~~~~ & 52
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> RS

#1: 5 ﬁkfﬁ@lﬁ(% 0) #2: 6 BE(64.53) #3: 9 oo E B R (57.33)

2 NS: BEESF PRIEFEFH0) -9 8 S: 8| & REE(EAC) -24 13.78 : 6.22 | Total VP: 41.60 Rank:
EW: B2 52 5EIC) 24 EW: &igT RERI(BAO) 9 IMP:| 25 15 8
I
#9 . 6SXW-2 500 Mean: 6SXW-2 500 9.0 2 [[# 10 » KT95 2HN2 110 Mean: 4SXS4 790 120 1
v K42 4SW4 -620 80  6SW-2 200 30 5 v KT862 3CE3-110 140  3HN4 170 1.0 1
* Q2 Dif: 1120 NS:9 6SW-1 100 1.0 1 ¢ Q3 Dif: 220 NS:-1  3HN3 140 00 2
» J9865432 IMP: 15 EW:12 5HES 650 -12.0 1 & AJ IMP: 6 EW:6 2HN3 140 00 1
» KQJT742 a3 4swa 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 110 6.0 2
+ KT93 — + A65 ¢ 94 + AKJ62
& AK7 & K982 & T7653
% ¢ V&N 4 A9865 *¢VAN 4, Q63
N ~~~~~ v 53 N ~~~~~ v AJ7
S ~~~~~ ¢ J874 S ~~~~~ ¢+ T875
E ~~~~~ QT E ~~~~~ » Q4
W ~~~~~ W ~~~~~
# 11 aT 2SS2 110 Mean: 2SE-3 150 3.0 2 ||# 12 a6 5HS6 680 Mean: 6HNG6 1430 9.0 4
v K9 2SS-1-50 30  4HW-2 100 20 1 v QT964 6SXW-51100 1020 6SXW-5 1100 2.0 1
+ AT642 Dif: 160 NS:2 2SS2 110 20 3 + AKQ Dif: -420 NS:-8 5HN7 710 7.0 1
& KQ542 IMP: 4 EW:2 2SS-1 50 20 2 & K974 IMP: -9 EW:-2 5HS6 680 -8.0 1
» AKQ62 38S-2 100 -40 1 » KQT72 5HN6 680 -8.0 2
v 762 3HW3 140 50 1 | v J32 4HN6 680 -8.0 1
¢ K73 + 86
a J7 » 652
& J87543 & J5
v A3 v AK87
+ QJ9 ¢ JT742
& T6 & AQ
#13 4 QT6 6DS-3 -300 Mean: 3NN6 690 120 1 ||# 14 » QT8432 4SXN-3 -500 Mean: 6HE-1 50 100 1
v AQ92 6NN-1-100 70  3NN5 660 110 2 v A9 4SXN-3 -500 -410 4HE4 420 0.0 1
* A7 Dif: -200 NS:-9 6NN-1 100 -50 4 ¢ J7 Dif: 0 NS:-3 5HWS5 450 1.0 1
* AQ73 IMP: -5 EW:5 6NN-2 200 70 1 » QJ2 IMP: 0 EW:3 4HWS5 450 1.0 3
# 9843 & KJ52 6DS-3 300 -9.0 1 A s K 4HE5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 | |v KQ543 v J62 4SXN-3 500 -3.0 3
+ 6532 —|— 98 + Q543 + AK62
6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N ~~~~~ v 865 N ~~~~~ v T87
S ~~~~~ + KQJT4 S ~~~~~ ¢ T98
E ~~~~~ & KT8 E ~~~~~ & T4
W ~~~~~ W ~~~~~
# 15 » 97 4SW6 -480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 4SW6 -680 Mean: 5SW5 650 0.0 1
v KJT5 4SW6 -480 -530 4SW6 480 20 7 v 853 4SW5 -650 -650 4SW5 650 0.0 7
+ A976 Dif: 0 NS:2 6SW6 980 -10.0 1 ¢ J8 Dif: -30 NS:-1  3NE5 660 0.0 1
& 962 IMP: 0 EW:-2 & AKJ973 IMP: -1 EW:0 4SW6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 v 62 — v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
» AKQ8 » J3 » Q864
¢ VABN ,J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E ~~~~~ &T74 E ~~~~~ & 52
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> RS

#1: 5 BEIGEIZ1(66.9) #2: 6 S5 (64.53) #3: 9 oo E B R (57.33)

3 NS: FENER 12 ERZ(BH0) 4 7 NS: BREH BREIS(BAC) -17 15.23 : 4.77 | Total VP: 56.53 Rank:
EW: SI805 BEEEsEEAC) 17 EW: =55 BEHE(BAO) -4 IMP:| 28 13 4
- I
#9 . 6SW-2 200 Mean: 6SXW-2 500 9.0 2 [[# 10 » KT95 2HN3 140 Mean: 4SXS4 790 120 1
v K42 5HE5 -650 80  6SW-2 200 30 5 v KT862 2HN2 110 140  3HN4 170 1.0 1
¢ Q2 Dif: 850 NS:3 6SW-1 100 1.0 1 ¢ Q3 Dif: 30 NS:0 3HN3 140 00 2
» J9865432 IMP: 13 EW:12 5HES5 650 -12.0 1 & AJ IMP: 1 EW:1 2HN3 140 00 1
» KQJT742 a3 4SwW4 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 4110 60 2
¢ KT93 — + A65 ¢ 94 + AKJ62
& AK7 & K982 & T7653
o ¢ VAN 4 A9865 o ¢VABN 4, QJ63
N ~~~~~ v 53 N ~~~~~ v AJ7
S ~~~~~ ¢ J874 S ~~~~~ ¢ T875
E ~~~~~ QT E ~~~~~ » Q4
W~~~-~-~ W ~~~~~
# 11 aT 3HW3 -140 Mean: 2SE-3 150 3.0 2 ||# 12 a6 5HN7 710 Mean: 6HN6 1430 9.0 4
v K9 3SS-2-100 30  4HW-2 100 20 1 v QT964 6HN6 1430 1020 6SXW-5 1100 2.0 1
+ AT642 Dif: -40 NS:-5 2SS2 110 20 3 + AKQ Dif: -720 NS:-7 5HN7 710 7.0 1
& KQ542 IMP: -1 EW:4 2SS-1 50 20 2 & K974 IMP: -12 EW:-9 5HS6 680 -8.0 1
» AKQ62 38S-2 100 40 1 » KQT72 5HN6 680 -8.0 2
v 762 3HW3 140 50 1 | v J32 4HN6 680 -8.0 1
¢ K73 ¢+ 86
a J7 » 652
& J87543 & J5
v A3 v AK87
+ QJ9 ¢ JT742
& T6 & AQ
#13 4 QT6 3NN6 690 Mean: 3NN6 690 120 1 ||# 14 » QT8432 4HWS5 -450 Mean: 6HE-1 50 100 1
v AQ92 6CN-4-400 70  3NN5 660 110 2 v A9 4HWS5 -450 -410  4HE4 420 0.0 1
* A7 Dif: 1090 NS:12 6NN-1 100 -50 4 ¢ J7 Dif: 0 NS:-1 5HWS5 450 1.0 1
* AQ73 IMP: 14 EW:10 6NN-2 200 70 1 * QJ2 IMP: 0 EW:1 4HWS5 450 1.0 3
# 9843 & KJ52 6DS-3 300 90 1 A s K 4HES5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 | |v KQ543 v J62 4SXN-3  -500 3.0 3
+ 6532 —|— 98 + Q543 + AK62
6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N ~~~~~ v 865 N ~~~~~ v T87
S ~~~~~ + KQJT4 S ~~~~~ ¢ T98
E ~~~~~ & KT8 E ~~~~~ & T4
W~~~-~-~ W ~~~~~
# 15 » 97 4SW6 -480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 4SW5 -650 Mean: 5SW5 650 0.0 1
v KJT5 4SW6 -480 -530 4SW6 480 20 7 v 853 4SW5 -650 -650 4SW5 650 0.0 7
+ A976 Dif: 0 NS:2 6SW6 980 -10.0 1 ¢ J8 Dif: 0 NS:0 3NE5 660 0.0 1
& 962 IMP: 0 EW:-2 & AKJ973 IMP: 0 EW:0 4SW6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 v 62 — v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
& AKQ8 » J3 » Q864
¢ VABN ,J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E ~~~~~ &T74 E ~~~~~ & 52
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> RS

#1: 5 BEIGEIZ1(66.9) #2: 6 S5 (64.53) #3: 9 oo E B R (57.33)

4 NS: P85 {52 Eh(FHO) 17 9 NS: 2BR3E sR{ZRA(BAC) -6 16.68 : 3.32 Total VP: 37.82 Rank:
EW: BEZER #5E3EAC) 6 EW: 17K EHE(BRO) -1 IMP:| 25 4 9
- I
#9 . 6SW-2 200 Mean: 6SXW-2 500 9.0 2 [[# 10 » KT95 4SXS4 790 Mean: 4SXS4 790 120 1
v K42 6SW-2200 80  6SW-2 200 30 5 v KT862 3HN4 170 140  3HN4 170 1.0 1
¢ Q2 Dif: 0 NS:3 6SW-1 100 1.0 1 ¢ Q3 Dif: 620 NS:12 3HN3 140 00 2
» J9865432 IMP: 0 EW:-3 5HE5 650 -12.0 1 & AJ IMP: 12 EW:-1 2HN3 140 00 1
» KQJT742 a3 4swa 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 110 6.0 2
¢ KT93 — + A65 ¢ 94 + AKJ62
& AK7 & K982 & T7653
o ¢ VAN 4 A9865 o ¢VABN 4, QJ63
N ~~~~~ v 53 N ~~~~~ v AJ7
S ~~~~~ ¢ J874 S ~~~~~ ¢ T875
E ~~~~~ QT E ~~~~~ » Q4
W~~~-~-~ W ~~~~~
# 11 aT 2SS-1-50 Mean: 2SE-3 150 3.0 2 ||# 12 a6 5HN6 680 Mean: 6HN6 1430 9.0 4
v K9 4HW-2 100 30 4HW-2 100 20 1 v QT964 4HNG6 680 1020 6SXW-5 1100 2.0 1
+ AT642 Dif: -150 NS:-2 2SS2 110 20 3 + AKQ Dif: 0 NS:-8 5HN7 710 7.0 1
& KQ542 IMP: -4 EW:-2 2SS-1 50 20 2 & K974 IMP: 0 EW:8 5HS6 680 -8.0 1
» AKQ62 38S-2 100 -40 1 » KQT72 5HN6 680 -8.0 2
v 762 3HW3 140 50 1 | v J32 4HN6 680 -8.0 1
¢ K73 + 86
a J7 » 652
& J87543 & J5
v A3 v AK87
+ QJ9 ¢ JT742
& T6 & AQ
#13 4 QT6 3NN5 660 Mean: 3NN6 690 120 1 ||# 14 4 QT8432 4HE>5 -450 Mean: 6HE-1 50 100 1
v AQ92 6NN-1-100 70  3NN5 660 110 2 v A9 5HW5 -450 -410  4HE4 420 0.0 1
* A7 Dif: 760 NS:11  6NN-1 100 -50 4 ¢ J7 Dif: 0 NS:-1 5HWS5 450 1.0 1
* AQ73 IMP: 13 EW:5 6NN-2 200 70 1 » QJ2 IMP: 0 EW:1 4HWS5 450 1.0 3
# 9843 & KJ52 6DS-3 300 -9.0 1 A s K 4HE5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 | |v KQ543 v J62 4SXN-3 500 -3.0 3
+ 6532 —|— 98 + Q543 + AK62
6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N ~~~~~ v 865 N ~~~~~ v T87
S ~~~~~ + KQJT4 S ~~~~~ ¢ T98
E ~~~~~ & KT8 E ~~~~~ & T4
W~~~-~-~ W ~~~~~
# 15 » 97 4SW6 -480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 4SW5 -650 Mean: 5SW5 650 0.0 1
v KJT5 5SW6 -480 -530  4SW6 480 20 7 v 853 4SW5 -650 -650 4SW5 650 0.0 7
+ A976 Dif: 0 NS:2 6SW6 980 -10.0 1 ¢ J8 Dif: 0 NS:0 3NE5 660 0.0 1
& 962 IMP: 0 EW:-2 & AKJ973 IMP: 0 EW:0 4SW6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 v 62 —_ v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
& AKQ8 » J3 » Q864
¢ VABN ,J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E ~~~~~ &T74 E ~~~~~ & 52
W ~~~~~ W ~~~~~




: #RR1 ==> Rb
5 1122 £ 3 2 ABERFHL 2 => 5
#1: 5 BRIIEIEL(66.9) #2: 6 TR (64.53) #3: 9 oE i B AR (57.33)
5 NS: BREER) BRRERHO) 31 1 O NS: B35 =3¢ (BAC) - 14 P:| 19.74 : 0.26 | Total VP: 66.90 Rank:
EW: MR H#EZEEIC) 14 EW: REH EX5E(BAO) -3| IMP:| 51 1 1
I
#9 . 6SXW-2 500 Mean: 6SXW-2 500 9.0 2 [[# 10 » KT95 3HN3 140 Mean: 4SXS4 790 120 1
v K42 6SW-2200 80  6SW-2 200 30 5 v KT862 3CE3-110 140  3HN4 170 1.0 1
¢ Q2 Dif: 300 NS:9 6SW-1 100 1.0 1 ¢ Q3 Dif: 250 NS:0 3HN3 140 00 2
» J9865432 IMP: 7 EW:-3 5HE5 650 -12.0 1 & AJ IMP: 6 EW:6 2HN3 140 00 1
» KQJT742 a3 4SwW4 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 4110 60 2
¢ KT93 — + A65 ¢ 94 + AKJ62
& AK7 & K982 & T7653
o ¢ VAN 4 A9865 ooV AN 4 QJ63
N ~~~~~ w53 |IN ~~~~~ v AJ7
S ~~~~~ +Jg74 I8 ~~~~~ ¢ T875
E ~~~~~ «Qr  |E ~~~~~ » Q4
w ~~~~~~~~~~
# 11 aT 2SE-3 150 Mean: 2SE-3 150 3.0 2 ||# 12 a6 6HN6 1430 Mean: 6HN6 1430 9.0 4
v K9 28S2110 30  4HW-2 100 20 1 v QT964 5HN6 680 1020 6SXW-5 1100 2.0 1
¢ AT642 Dif: 40 NS:3 2SS2 110 20 3 + AKQ Dif: 750 NS:9 5HN7 710 7.0 1
& KQ542 IMP: 1 EW:-2 2SS-1 50 20 2 & K974 IMP: 13 EW:8 5HS6 680 -8.0 1
» AKQ62 38S-2 100 40 1 » KQT72 5HN6 680 -8.0 2
v 762 3HW3 140 50 1 | v J32 4HN6 680 -8.0 1
¢ K73 ¢+ 86
a J7 » 652
& J87543 & J5
v A3 v AK87
+ QJ9 ¢ JT742
& T6 & AQ
#13 4 QT6 3NN5 660 Mean: 3NN6 690 120 1 ||# 14 » QT8432 4SXN-3 -500 Mean: 6HE-1 50 100 1
v AQ92 6NN-1-100 70  3NN5 660 110 2 v A9 6HE-150 -410 4HE4 420 0.0 1
* A7 Dif: 760 NS:11  6NN-1 100 -50 4 ¢ J7 Dif: -550 NS:-3 5HW5 450 1.0 1
* AQ73 IMP: 13 EW:5 6NN-2 200 70 1 * QJ2 IMP: -11 EW:-10 4HW5 450 1.0 3
# 9843 & KJ52 6DS-3 300 90 1 A s K 4HES5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 | |v KQ543 v J62 4SXN-3  -500 3.0 3
+ 6532 —|— 98 + Q543 + AK62
6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N ~~~~~ 88  |IN ~~~~~ v T87
S ~~~~~ ekKQTHL IS ~~~~~ ¢ T98
E ~~~~~ &KT8 | |E ~~~~~ &» T4
w ~~~~~~~~~~
# 15 97 5SW6 -480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 5SW5 -650 Mean: 5SW5 650 0.0 1
v KJT5 6SW6 -980 -530 4SW6 480 20 7 v 853 4SW5 -650 -650 4SW5 650 0.0 7
+ A976 Dif: 500 NS:2 6SW6 980 -10.0 1 ¢ J8 Dif: 0 NS:0 3NE5 660 0.0 1
& 962 IMP: 11 EW:10 & AKJ973 IMP: 0 EW:0 4SW6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 v 62 — v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
& AKQS: » J3 » Q864
POV ABN 4 J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E ~~~~~ &T74 E ~~~~~ & 52
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> RS

#1: 5 BEIGEIZ1(66.9) #2: 6 S5 (64.53) #3: 9 oo E B R (57.33)

6 NS: BRzE#E HIM B EHC) 9 1 NS: &R $B{"H#(FH0) 8 10.44 : 9.56 | Total VP: 64.53 Rank:
EW: 58 EHEEBEI0) -8 EW: BREIE 3 iA(BAC) -9 IMP:| 5 4 2
I
#9 . 6SW-2 -200 Mean: 6SXW-2 500 9.0 2 [[# 10 » KT95 2HN2 -110 Mean: 4SXS4 790 120 1
v K42 6SW-1-100 80  6SW-2 200 30 5 v KT862 3HN3 -140 140  3HN4 170 1.0 1
¢ Q2 Dif: -100 NS:1  6SW-1 100 1.0 1 ¢ Q3 Dif: 30 NS:0 3HN3 140 00 2
» J9865432 IMP: -3 EW:-3 5HES 650 -12.0 1 & AJ IMP: 1 EW:1 2HN3 140 00 1
» KQJT742 a3 4SwW4 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 4110 60 2
¢ KT93 — + A65 ¢ 94 + AKJ62
& AK7 & K982 & T7653
o ¢ VAN 4 A9865 o ¢VABN 4, QJ63
N ~~~~~ v 53 N ~~~~~ v AJ7
S ~~~~~ ¢ J874 S ~~~~~ ¢ T875
E ~~~~~ QT E ~~~~~ » Q4
W~~~-~-~ W ~~~~~
# 11 aT 2SS2 -110 Mean: 2SE-3 150 3.0 2 ||# 12 a6 6HNG -1430 Mean: 6HNG6 1430 9.0 4
v K9 2SE-3-150 30  4HW-2 100 20 1 v QT964 6HN6 -1430 1020 6SXW-5 1100 2.0 1
+ AT642 Dif: 40 NS:3 2SS2 110 20 3 + AKQ Dif: 0 NS:9 5HN7 710 7.0 1
& KQ542 IMP: 1 EW:-2 2SS-1 50 20 2 & K974 IMP: 0 EW:-9 5HS6 680 -8.0 1
» AKQ62 38S-2 100 40 1 » KQT72 5HN6 680 -8.0 2
v 762 3HW3 140 50 1 | v J32 4HN6 680 -8.0 1
¢ K73 ¢+ 86
a J7 » 652
& J87543 & J5
v A3 v AK87
+ QJ9 ¢ JT742
& T6 & AQ
#13 4 QT6 6NN-2 200 Mean: 3NN6 690 120 1 ||# 14 4 QT8432 4HE4 420 Mean: 6HE-1 50 100 1
v AQ92 6NN-1100 70  3NN5 660 110 2 v A9 4HW5 450 -410  4HE4 420 0.0 1
* A7 Dif: 100 NS:-5 6NN-1 100 -50 4 ¢ J7 Dif: -30 NS:-1 5HW5 450 1.0 1
* AQ73 IMP: 3 EW:7 6NN-2 200 70 1 * QJ2 IMP: -1 EW:0 4HWS5 450 1.0 3
# 9843 & KJ52 6DS-3 300 90 1 A s K 4HES5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 | |v KQ543 v J62 4SXN-3  -500 3.0 3
+ 6532 —|— 98 + Q543 + AK62
6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N ~~~~~ v 865 N ~~~~~ v T87
S ~~~~~ + KQJT4 S ~~~~~ ¢ T98
E ~~~~~ & KT8 E ~~~~~ & T4
W~~~-~-~ W ~~~~~
# 15 » 97 4SW6 480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 3NE5 660 Mean: 5SW5 650 0.0 1
v KJT5 4SW6 480 -530 4SW6 480 20 7 v 853 4SW5 650 -650 4SW5 650 0.0 7
+ A976 Dif: 0 NS:2 6SW6 980 -10.0 1 ¢ J8 Dif: 10 NS:0 3NE5 660 0.0 1
& 962 IMP: 0 EW:-2 & AKJ973 IMP: 0 EW:0 4SW6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 v 62 — v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
& AKQ8 » J3 » Q864
¢ VABN ,J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E ~~~~~ &T74 E ~~~~~ & 52
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> RS

#1: 5 BEIGEIZ1(66.9) #2: 6 S5 (64.53) #3: 9 oo E B R (57.33)

7 NS: B BVERERC) -17 3 NS: #IEF] 58 /(FH0) 4 4.77 15.23 | Total VP: 50.13 Rank:
EW: 27 SEREEI0) 4 EW: &iil55 BREEFR(BAC) 17 IMP:| 13 28 7
I
#9 . 6SW-2 -200 Mean: 6SXW-2 500 9.0 2 [[# 10 » KT95 2HN3 -140 Mean: 4SXS4 790 120 1
v K42 5HE5 650 80  6SW-2 200 30 5 v KT862 2HN2 -110 140  3HN4 170 1.0 1
¢ Q2 Dif: -850 NS:-12 6SW-1 100 1.0 1 ¢ Q3 Dif: -30 NS:-1  3HN3 140 00 2
» J9865432 IMP: -13 EW:-3 5HES5 650 -12.0 1 & AJ IMP: -1 EW:0 2HN3 140 00 1
» KQJT742 a3 4SwW4 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 4110 60 2
¢ KT93 — + A65 ¢ 94 + AKJ62
& AK7 & K982 & T7653
o ¢ VAN 4 A9865 o ¢VABN 4, QJ63
N ~~~~~ v 53 N ~~~~~ v AJ7
S ~~~~~ ¢ J874 S ~~~~~ ¢ T875
E ~~~~~ QT E ~~~~~ » Q4
W~~~-~-~ W ~~~~~
# 11 aT 3HW3 140 Mean: 2SE-3 150 3.0 2 ||# 12 a6 5HN7 -710 Mean: 6HN6 1430 9.0 4
v K9 3SS-2100 30  4HW-2 100 20 1 v QT964 6HN6 -1430 1020 6SXW-5 1100 2.0 1
¢ AT642 Dif: 40 NS:-4 2SS2 110 20 3 + AKQ Dif: 720 NS:9  5HN7 710 7.0 1
& KQ542 IMP: 1 EW:5 2SS-1 50 20 2 & K974 IMP: 12 EW:7 5HS6 680 -8.0 1
» AKQ62 38S-2 100 40 1 » KQT72 5HN6 680 -8.0 2
v 762 3HW3 140 50 1 | v J32 4HN6 680 -8.0 1
¢ K73 ¢+ 86
a J7 » 652
& J87543 & J5
v A3 v AK87
+ QJ9 ¢ JT742
& T6 & AQ
#13 4 QT6 3NN6 -690 Mean: 3NN6 690 120 1 ||# 14 4 QT8432 4HWS5 450 Mean: 6HE-1 50 100 1
v AQ92 6CN-4400 70  3NN5 660 110 2 v A9 4HW5 450 -410  4HE4 420 0.0 1
* A7 Dif: 1090 NS:-10 6NN-1 100 -50 4 ¢ J7 Dif: 0 NS:-1 5HWS5 450 1.0 1
* AQ73 IMP: -14 EW:-12 6NN-2 200 70 1 * QJ2 IMP: 0 EW:1 4HWS5 450 1.0 3
# 9843 & KJ52 6DS-3 300 90 1 A s K 4HES5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 | |v KQ543 v J62 4SXN-3  -500 3.0 3
+ 6532 —|— 98 + Q543 + AK62
6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N ~~~~~ v 865 N ~~~~~ v T87
S ~~~~~ + KQJT4 S ~~~~~ ¢ T98
E ~~~~~ & KT8 E ~~~~~ & T4
W~~~-~-~ W ~~~~~
# 15 97 4SW6 480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 4SW5 650 Mean: 5SW5 650 0.0 1
v KJT5 4SW6 480 -530 4SW6 480 20 7 v 853 4SW5 650 -650 4SW5 650 0.0 7
+ A976 Dif: 0 NS:2 6SW6 980 -10.0 1 ¢ J8 Dif: 0 NS:0 3NE5 660 0.0 1
& 962 IMP: 0 EW:-2 & AKJ973 IMP: 0 EW:0 4SW6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 v 62 — v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
& AKQ8 » J3 » Q864
¢ VABN ,J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E ~~~~~ &T74 E ~~~~~ & 52
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> RS

#1: 5 BEIGEIZ1(66.9) #2: 6 S5 (64.53) #3: 9 oo E B R (57.33)

8 NS: -2 BEEEC) -24 2 NS: BRZ<F MigF(BR0) -9 6.22 13.78 | Total VP: 53.34 Rank:
EW: #ig T SEBEE0) 9 EW: 8lfE% 5E55(BAC) 24 IMP:| 15 25 5
I
#9 . 6SXW-2 -500 Mean: 6SXW-2 500 9.0 2 [[# 10 » KT95 2HN2 -110 Mean: 4SXS4 790 120 1
v K42 4SW4 620 80  6SW-2 200 30 5 v KT862 3CE3110 140  3HN4 170 1.0 1
¢ Q2 Dif: -1120 NS:-12 6SW-1 100 1.0 1 ¢ Q3 Dif: -220 NS:-6 3HN3 140 00 2
» J9865432 IMP: -15 EW:-9 5HES5 650 -12.0 1 & AJ IMP: -6 EW:1 2HN3 140 00 1
» KQJT742 a3 4SwW4 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 4110 60 2
¢ KT93 — + A65 ¢ 94 + AKJ62
& AK7 & K982 & T7653
o ¢ VAN 4 A9865 o ¢VABN 4, QJ63
N ~~~~~ v 53 N ~~~~~ v AJ7
S ~~~~~ ¢ J874 S ~~~~~ ¢ T875
E ~~~~~ QT E ~~~~~ » Q4
W~~~-~-~ W ~~~~~
# 11 aT 2SS2 -110 Mean: 2SE-3 150 3.0 2 ||# 12 a6 5HS6 -680 Mean: 6HN6 1430 9.0 4
v K9 2SS-150 30  4HW-2 100 20 1 v QT964 6SXW-5-1100 1020 6SXW-5 1100 2.0 1
+ AT642 Dif: -160 NS:-2 2SS2 110 20 3 + AKQ Dif: 420 NS:2 5HN7 710 7.0 1
& KQ542 IMP: -4 EW:-2 2SS-1 50 20 2 & K974 IMP: 9 EW:8 5HS6 680 -8.0 1
» AKQ62 38S-2 100 40 1 » KQT72 5HN6 680 -8.0 2
v 762 3HW3 140 50 1 | v J32 4HN6 680 -8.0 1
¢ K73 ¢+ 86
a J7 » 652
& J87543 & J5
v A3 v AK87
+ QJ9 ¢ JT742
& T6 & AQ
#13 4 QT6 6DS-3 300 Mean: 3NN6 690 120 1 ||# 14 » QT8432 4SXN-3 500 Mean: 6HE-1 50 100 1
v AQ92 6NN-1100 70  3NN5 660 110 2 v A9 4SXN-3 500 -410 4HE4 420 0.0 1
* A7 Dif: 200 NS:-5 6NN-1 100 -50 4 ¢ J7 Dif: 0 NS:-3 5HWS5 450 1.0 1
* AQ73 IMP: 5 EW:9 6NN-2 200 70 1 * QJ2 IMP: 0 EW:3 4HWS5 450 1.0 3
# 9843 & KJ52 6DS-3 300 90 1 A s K 4HES5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 | |v KQ543 v J62 4SXN-3  -500 3.0 3
+ 6532 —|— 98 + Q543 + AK62
6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N ~~~~~ v 865 N ~~~~~ v T87
S ~~~~~ + KQJT4 S ~~~~~ ¢ T98
E ~~~~~ & KT8 E ~~~~~ & T4
W~~~-~-~ W ~~~~~
# 15 » 97 4SW6 480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 4SW6 680 Mean: 5SW5 650 0.0 1
v KJT5 4SW6 480 -530 4SW6 480 20 7 v 853 4SW5 650 -650 4SW5 650 0.0 7
+ A976 Dif: 0 NS:2 6SW6 980 -10.0 1 ¢ J8 Dif: 30 NS:0 3NE5 660 0.0 1
& 962 IMP: 0 EW:-2 & AKJ973 IMP: 1 EW:1 4SW6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 v 62 — v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
& AKQS: » J3 » Q864
¢VAN 4J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E ~~~~~ &T74 E ~~~~~ & 52
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> RS

#1: 5 BEIGEIZ1(66.9) #2: 6 S5 (64.53) #3: 9 oo E B R (57.33)

9 NS: SREHE 5REBHEIC) -6 4 NS: #h538 fI=RE(FRO) 17 3.32 16.68 | Total VP: 57.33 Rank:
EW: EIh78 EBEEI0) -17 EW: [RIEE FE1E3R(BAC) 6 IMP:| 4 25 3
I
#9 . 6SW-2 -200 Mean: 6SXW-2 500 9.0 2 [[# 10 » KT95 4SXS4 -790 Mean: 4SXS4 790 120 1
v K42 6SW-2-200 80  6SW-2 200 30 5 v KT862 3HN4 -170 140  3HN4 170 1.0 1
¢ Q2 Dif: 0 NS:3 6SW-1 100 1.0 1 ¢ Q3 Dif: -620 NS:1  3HN3 140 00 2
» J9865432 IMP: 0 EW:-3 5HE5 650 -12.0 1 & AJ IMP: -12 EW:-12 2HN3 140 00 1
» KQJT742 a3 4swa 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 110 6.0 2
¢ KT93 — + A65 ¢ 94 + AKJ62
& AK7 & K982 & T7653
o ¢ VAN 4 A9865 ooV AN 4 QJ63
N ~~~~~ v 53 N ~~~~~ v AJ7
S ~~~~~ + J874 S ~~~~~ o T875
E ~~~~~ QT E ~~~~~ » Q4
W~~~-~-~ W ~~~~~
# 11 aT 2SS-1 50 Mean: 2SE-3 150 3.0 2 ||# 12 a6 5HNG -680 Mean: 6HNG6 1430 9.0 4
v K9 4HW-2 -100 30 4HW-2 100 20 1 v QT964 4HNG6 -680 1020 6SXW-5 1100 2.0 1
+ AT642 Dif: 150 NS:2 2SS2 110 20 3 + AKQ Dif: 0 NS:-8 5HN7 710 7.0 1
& KQ542 IMP: 4 EW:2 2SS-1 50 20 2 & K974 IMP: 0 EW:8 5HS6 680 -8.0 1
» AKQ62 38S-2 100 -40 1 » KQT72 5HN6 680 -8.0 2
v 762 3HW3 140 50 1 | v J32 4HN6 680 -8.0 1
¢ K73 + 86
a J7 » 652
& J87543 & J5
v A3 v AK87
+ QJ9 ¢ JT742
& T6 & AQ
#13 4 QT6 3NN5 -660 Mean: 3NN6 690 120 1 ||# 14 » QT8432 4HE5 450 Mean: 6HE-1 50 100 1
v AQ92 6NN-1100 70  3NN5 660 110 2 v A9 5HW5 450 -410 4HE4 420 0.0 1
* A7 Dif: -760 NS:-5 6NN-1 100 -50 4 ¢ J7 Dif: 0 NS:-1 5HWS5 450 1.0 1
* AQ73 IMP: -13 EW:-11 6NN-2 200 70 1 » QJ2 IMP: 0 EW:1 4HWS5 450 1.0 3
# 9843 & KJ52 6DS-3 300 -9.0 1 A s K 4HE5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 | |v KQ543 v J62 4SXN-3 500 -3.0 3
+ 6532 —|— 98 + Q543 + AK62
6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N ~~~~~ v 865 N ~~~~~ v T87
S ~~~~~ + KQJT4 S ~~~~~ ¢ T98
E ~~~~~ & KT8 E ~~~~~ & T4
W~~~-~-~ W ~~~~~
# 15 » 97 4SW6 480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 4SW5 650 Mean: 5SW5 650 0.0 1
v KJT5 5SW6 480 -530  4SW6 480 20 7 v 853 4SW5 650 -650 4SW5 650 0.0 7
+ A976 Dif: 0 NS:2 6SW6 980 -10.0 1 ¢ J8 Dif: 0 NS:0 3NE5 660 0.0 1
& 962 IMP: 0 EW:-2 & AKJ973 IMP: 0 EW:0 4SW6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 v 62 —_ v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
& AKQ8 » J3 » Q864
¢ VABN ,J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E ~~~~~ &T74 E ~~~~~ & 52
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> RS

#1: 5 BEIGEIZ1(66.9) #2: 6 S5 (64.53) #3: 9 oo E B R (57.33)

1 O NS: FRI7FH =OLEEAC) -14 5 NS: BREES) $5REE(FO) 31 0.26 19.74| Total VP: 18.63 Rank:
EW: 5REH FZFEEHO) 31 EW: i#tikiE MEHE(BAC) 14 IMP:| 11 51 10
I
#9 ' 6SXW-2 -500 Mean: 6SXW-2 500 9.0 2 |[|#10 » KT95 3HN3 -140 Mean: 4SXS4 790 120 1
v K42 6SW-2-200 80  6SW-2 200 30 5 v KT862 3CE3110 140  3HN4 170 1.0 1
* Q2 Dif: -300 NS:3 6SW-1 100 1.0 1 ¢ Q3 Dif: -250 NS:-6 3HN3 140 00 2
» J9865432 IMP: -7 EW:-9 5HE5 650 -12.0 1 & AJ IMP: -6 EW:0 2HN3 140 00 1
& KQJT742 a3 4swa 620 -12.0 1 ||a A742 a8 2HN2 110 1.0 3
v A8 v QJTI76 v Q43 _I_ v 95 3CE3 110 6.0 2
¢ KT93 — + A65 * 94 * AKJ62
& AK7 & K982 & T7653
% ¢ V&N 4 A9865 *oVAN 4, Q63
N ~~~~~ v 53 N ~~~~~ v AJ7
§ ~~~~~ ¢ J874 S ~~~~~ ¢+ T875
E ~~~~+~ « QT E ~~~~~ » Q4
W ~~~~~ W ~~~~~
# 11 aT 2SE-3 -150 Mean: 2SE-3 150 3.0 2 ||# 12 a6 6HNG6 -1430 Mean: 6HN6 1430 9.0 4
v K9 2SS2-110 30 4HW-2 100 20 1 v QT964 5HNG6 -680 1020 6SXW-5 1100 2.0 1
+ AT642 Dif: -40 NS:2 2SS2 110 20 3 ¢ AKQ Dif: -750 NS:-8 5HN7 710 7.0 1
& KQ542 IMP: -1 EW:-3 2SS-1 50 20 2 & K974 IMP: -13 EW:-9 5HS6 680 -8.0 1
~ AKQ62 38S-2 100 -40 1 » KQT72 5HN6 680 -8.0 2
v 762 3HW3 140 50 1 I v J32 4HN6 680 -8.0 1
+ K73 + 86
a J7 » 652
& J87543 & J5
v A3 v AK87
+ QJ9 ¢ JT742
& T6 & AQ
#13 4 QT6 3NN5 -660 Mean: 3NN6 690 120 1 ||# 14 4 QT8432 4SXN-3 500 Mean: 6HE-1 50 100 1
v AQ92 6NN-1100 70  3NN5 660 110 2 v A9 6HE-1-50 -410 4HE4 420 0.0 1
* A7 Dif: -760 NS:-5 6NN-1 100 -50 4 ¢ J7 Dif: 550 NS:10 5HW5 450 1.0 1
* AQ73 IMP: -13 EW:-11 6NN-2 200 70 1 » QJ2 IMP: 11 EW:3  4HW5 450 1.0 3
# 9843 & KJ52 6DS-3 300 -9.0 1 A s K 4HE5 450 1.0 1
v JT43 v K7 6CN-4 400 -10.0 1 || KQ543 v J62 4SXN-3 500 -3.0 3
+ 6532 —|— 98 + Q543 + AK62
6 & J9542 & A73 & K9865
VAN ,A7 oo VAN 4 J9765
N ~~~~~ v 865 N ~~~~~ v T87
S ~~~~~ + KQJT4 S ~~~~~ ¢ T98
E ~~~~~ & KT8 E ~~~~~ & T4
W ~~~~~ W ~~~~~
# 15 » 97 5SW6 480 Mean: 5SW6 480 2.0 2 ||# 16 » 82 5SW5 650 Mean: 5SW5 650 0.0 1
v KJTS 6SW6 980 -530 4SW6 480 20 7 v 853 4SW5 650 -650 4SW5 650 0.0 7
+ A976 Dif: -500 NS:-10 6SW6 980 -10.0 1 ¢ J8 Dif: 0 NS:0 3NE5 660 0.0 1
& 962 IMP: -11 EW:-2 & AKJ973 IMP: 0 EW:0 4SW6 680 -1.0 1
& AT864 » KQ2 & AK764 » QJ9
v v Q873 v 62 — v KQJ
+ Q83 ¢ KJTS + AKQT7 ¢ 632
» AKQ8 » J3 » Q864
¢ VABN ,J53 oo VAN 4, T53
N ~~~~~ v A9642 N ~~~~~ v AT974
S ~~~~~ ¢ 42 S ~~~~~ ¢ 954
E ~~~~~ & T74 E ~~~~~ & 52
W ~~~~~ W ~ ~~~~




